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1. a)Describe a “Mendelian Population™
b) List out the conditions required for a population to remain at genetic

equilibrium

¢) Discuss the effects of mutation and migration on genetic equilibrium.

2. a) lxplain the terms “Linkage and Crossing Over”
b) What are the aspects to be considered in gene mapping?
¢) Explain the approach to determine the linkage relationship of genes of a

trihybrid parent?

3, Describe the following |
¢) Different types of euploidy and their important characteristics.

b) Quantitative inheritance with a suitable example

4, Exp ain the following
¢) Interference and coincidence
b) Co-dominance

¢) Chromosomal deletion
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Sre s Ei'LlSj;]ec-.E'f'ta';ﬂl;‘:lt the excretion of the strong odorous substance methanethiol is
cortrolled by a recessive gt‘:ne' ‘m’ In man; non—excretion is governed by the
dorninant allele ‘M. If the fi‘et}ltc:méy of ‘m’> is 0.4 in Batticaloa, what is the
probubility of two non excretor boys and one excretor girl in Batticaloa families

of sixe three where both parents are non- excretors?

6. Tall tomato plants are produced by the action of a dominant allele ‘D’ and dwarf
plants by its recessive allele ‘d’. Hairy stems are produced by a dominant gene
‘" end hairless stems in its recessive allele “4°. A dihybrid tall hairy plant is test

crosszd and the progeny of this testcross were observed to be

Tall, hairy 118 |
Dwarf, hairless 12]
Tall, hairless 110
Dwarf, hairy 109

a) Dingram this cross.
b) What is the ratio of tall: dwarf} of hairy: hairless.
c) Are these loci assorting independently of one another?

d) If thers is a deviation from the ratio given, explain the possible reason.




